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Question 1.Select the related word/letters/number from the given alternatives.
o T Riopeat & @ YafAq e/ 31erl/de & gyl
Bacteria : Microscope :: Moon : ?

Staroy : geweseft : wwm: ?
Options:

1) Night

afx

2) Earth
qeft
3) Satellite

4) Telescope
Rasff o

Correct Answer: Telescope

e o

Candidate Answer: Telescope

Resffaw

Question 2.Select the related word/letters/number from the given alternatives.
A M Rreneul § @ afAa <1/ 91erRi/<en & 9Tl

LNPR :TVXZ : NPRT : ?

Options:

1) FHJL

2) FLJH

3) HFLJ

4) JLHF
Correct Answer: FHJL
Candidate Answer: FHJL

Question 3.Select the related word/letters/number from the given alternatives.
20 T faeeat & @ Tafaa srea/s1eRl/<war @l gRg)

27:125:64:7?

Options:

1) 517

2) 162

3) 216

4) 273
Correct Answer: 216
Candidate Answer: 216
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Question 4. Downloaded from www.qmaths.in

For the following questions

Find the odd word/letters/number pair from the given alternatives.

59 U H Ry 7Tq frepedi & § fawe ree/srer/<wem g gfAg ?

Options:
1) Novel
U™
2) Paper
TS

3) Pencil
o=

4) Pen
heTH

Correct Answer: Novel
U™

Candidate Answer: Novel
U™

Question 5.

For the following questions

Find the odd word/letters/number pair from the given alternatives.

39 0% | Ry Y et & & o <reg/srer/dea g gy ?

Options:
1) acDD

2) egHH
3) ikLL

4) QSTt
Correct Answer: QSTt
Candidate Answer: QSTt

Question 6.

For the following questions

Find the odd word/letters/number pair from the given alternatives.

39 U | Ry Q freredt & & o <reg/srer/<ear g gy ?

Options:
1) 65-90

2)73-97
3)112-137

4) 162 -187
Correct Answer: 73 - 97
Candidate Answer: 73 - 97

Question 7.Arrange the following words as per order in the dictionary

frfafea el ot sreaentsr & Ry Mg o & srgeR fafeg 2
a. Guarantee b. Group c. Grotesque d. Guard e. Groan
Options:

1)acebd
2)b,e a,d,c
3)b,cead

4)ecb,ad
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Candidate Answer: ¢,c,b, 2, d Downloaded from www.qmaths.in

Question 8.Which one set of letters when sequentially placed at the gaps in the given letter series shall complete it?

3Rl T I TT TG Wiet! VT TR hAaR @ & & T 18R el ol T eal & ?
xy_kx_zk_yzk xyz_ _

Options:
1) zyxkx

2) zykxz
3) zkxyk

4) zxykx
Correct Answer: zyxkx
Candidate Answer: zyxkx

Question 9.Find the missing number in the series:

&Y 173 Sgel H o ST A1 hiforg ?
219, 211, 204, 198, ?, 189
Options:

1) 189

2) 192
3) 193

4) 196
Correct Answer: 193
Candidate Answer: 193
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Question 10.If RPI&PREIsTSter - #MehRd wife of P and P
is the son of A, how Z relates to A?

ITRM,Zhagag 3R Z PhI U gl P AdIder g, dl Z &l
AT F g g ?

Options:

1) Daughter-in-law

gy

2) Daughter

3) Wife
Teril

4) Mother
HIdT

Correct Answer: Daughter-in-law
REIEK!
Candidate Answer: Daughter-in-law

REICK!

Question 11.The sum of ages of 4 children born at
intervals of 4 years each is 60. What is the age of the
youngest child?

4 <1 <hl 31T AT TINT 60 Y g 3R Ich ST+H H 4 -4 I T A=<
g1 9 BI¢ F=d <hl 31 F1d13T ?
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Options:
1)7

2) 9
3) 10

4)12
Correct Answer: 9
Candidate Answer: 9

Question 12.From the given alternative words, select the
word which cannot be formed using the letters of the
given word:

fEfeRad faehetl & 9 a8 2rsg AT S1 6T 1Y Tec <h 18RI oAl
UANT chch ol o1 ST YehdT :

ENVIRONMENT

Options:

1) OINTMENT

2) MENTOR
3) VENOM

4) TRIM
Correct Answer: OINTMENT
Candidate Answer: OINTMENT
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Question 13.In a certain code CAMEL is written as
MFNBD. How shall TIGER be written in that code?

3R CAMEL &t MFNBD @t ST 9ehdT & df TIGER bl 39 hie
A &g forgr s ?

Options:
1) SFUJH

2) SFHJU
3) SFJUH

4) SHFJU
Correct Answer: SFHJU
Candidate Answer: SFHJU

Question 14.If x stands for -, + means x, + means + and -
means +, then what is the value of the given expression?

gfe x pr 31 -, + h1 37t x|, + h1 31 + 3R - w1 37 = g at
175-25+5+2x3+10="7

Visit www.gmaths.in for tons of free study materials and latest exam updates.



Downloaded from www.qmaths.in

Options:
1) 77

2) 160
3) 240

4) 2370
Correct Answer: //
Candidate Answer: [ NOT ANSWERED |

Question 15.1f4*2 =3
and 8*4 =3,
then21*7=7?

gfc4*2=3
M 8*4 =3
dar21*7=2?

Options:
1) 4

2) 3
3) 8
4)16

Correct Answer: 4

Candidate Answer: 4
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Question 16.Select the missing numbers from the given
alternatives

& T et & ¥ @ 9 9T

17 11 19

12 13 16

Options:
1) 9

4) 36
Correct Answer: 9
Candidate Answer: 9

Question 17.A man walks 5 kilometre towards South and
then turns to the right. After walking 3 kilometre, he turns
to the left and walks 5 kilometre. Now in which direction
is he from the starting point?

Teh HTeHT 5 fohettHter afeor &t 3R ST @ | fo arfgt gree 3
foheTHteR Tetar g1 a8 918 g 5 foheliHieR Tetdr g1 31 a8
IR foig 9 forg feam & 82
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Options:
1) West
ufgH

2) South

cferor

3) North-East

ITR-gd

4) South-West

gferor-usgfmy

Correct Answer: South-West
cferor-ugfm

Candidate Answer: South-West
eferor-uggfm
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Question 18.CMAEATRE \GrRI$tatBRIBR s to be true
and decide which of the given conclusions/assumptions
can definitely be drawn from the given statement.
Statements: Life means stresses and strains.

Stresses and strains have an adverse effect on life.
Conclusions: I. Life is not worth living.

Il. One should avoid stresses and strains in life.

Ffeifad Ul ° Ueh a1 & a<hed ¢ 718 g, fSigeh 31t &f fArsepnl/
A=drg, | 3R 1| fAeprdd T 81 3iuent faaR AT & foh a<hed 9™
€ dTg dg 9H=d: d a2l I {99 Udid giar gt 31en! Auig
AT & foh RU 7T aheg & T arl-a1 AfYd T 9 9gt At/
=T fAehTelT ST GehdT & ?

hYT; Sid-T ehl AdTd GaTd 3R I g| aTd 3R d-1d Sitd= U
Uidichel NI Sleld 6 |

s ; |, Sfig= Si= g gt g1 |1.Sfteq | a91a ok gara O

ST I1ieql|

Options:

1) Only conclusion | follows

hael | fshy TEl 21

2) Only conclusion Il follows

hael |l sy gt 8|

3) Both conclusion | and conclusion Il follow
| 3R || <1 feny T8t &

4) Neither conclusion | nor conclusion Il follows

ardr | iR AT 8! 1 Ashy I8l 5|
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Correct AnsweP ORRAEBHERSIOHYIFBAGHS
ohad || sy Tl g1

Candidate Answer: Only conclusion Il follows

chad |l fAeepre TBl &l

Question 19.How many triangles are there in this
geometric figure?

Rt & Forerd Froget & 2

AN
N/

Options:
1) 12

4) 20
Correct Answer: 18
Candidate Answer: 20
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Question 20. WRRMGPH5E AAEWErFYLiES Best indicates
the relationship between:
Doctors, Nurses, Hospital

i a1 o Aefafea gy o ggl eufar g 2
Sl , A9, 3 dTel
Options:

1)
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Candidate Answer:

Question 21.Which answer figure will complete the
pattern in the question figure?

39 U H ohi- €l IR TR U Thid o UfdwU ot U1 Al 8
?

I

D
o)

2
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Options:

10

e

o

Correct Answer:

ST
DHED)
=

Candidate Answer:

JU! '
B
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Question 22.FrOM' I Hider BrswenTigiitds, select the one
in which the question figure is hidden/embedded

&1 118 IR SMMpiadl H 9 I IHT fS1GH U simepfd Afgd g1

Visit www.gmaths.in for tons of free study materials and latest exam updates.



Correct Answep.ownloaded from www.gmaths.in

=l

Candidate Answer:

=

Question 23.A piece of paper is folded and cut as shown
below in the question figures. From the given answer
figures, indicate how it will appear when opened.

-1 <211 s & AR HRITST bl AISHR hIe TUT Wil & 918

g foha IR STepfa i feamg & ?

[ T
A LN IS A T T
AN | N [ A
e e e A N O s B

T
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1)

FTET
foo:-o\

G

2)
L
il
\
\

N

3)

=

o}

o‘n
OO0 O
s 0 Fa:
lo]

g T

=
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—

Question 24.If a mirror is placed on the line MN, then
which of the answer figures is the right image of the given

figure?

=g UM 4 Ife Ueh Edur sl MN 3@T IR W@T S @) &) 71 IR
TRl | Y hlIH-HY 3MTehld U MThid o1 et ufdfaw gift 2

M

yi.
-

, /
—A— - 1!;

L
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1)
T
17\
J
2)

AV L

Candidate Answer:
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Question 25.In TRYYSREETISIE WOl i¥Hepiesented by only
one set of numbers as given in any one of the
alternatives. The sets of humbers given in the alternatives
are represented by two classes of alphabets as in two
matrices given below. The columns and rows of Matrix |
are numbered from 0 to 4 and that of Matrix Il are
numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, e.g.,
'G' can be represented by 01 and 'P’ can be represented by
10, 44, etc. Similarly you have to identify the set for the
word 'BARK'

ffefea us & faenedt # Ay Ty dr-ug, s1ert & &t ot
SR &MY Y 8, S foh i iy Ty f seggi & €1 3magg | &
W R UFRF R G0 @ 4 T SIS 8, SR A I H 599
dch, 39 STTEl Y Tch &R ohl Ugel IY<h! Ufch 3R e H Twy
T g1 SATAT ST ehdT & | I&Tg0T & 18,6 ahl 01 i g1
ZITT ST YehdT & AT P aht 10,44, 31T ZRT 1T ST HehdT & |
38l dRg ¥ AHTUh! iU 2reg 'BARK' & fo1q 9HE &l Uga=+1 8|
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Options:
1) 32, 55, 69, 24

2) 32, 03, 66, 57
3) 67, 42, 66, 00

4) 23, 30, 66, 97
Correct Answer: 67,42, 66, 00
Candidate Answer: 67, 42, 66, 00

Question 26.What is the maximum number of days of
employment a rural poor would get under MGNREGA™?

T ( MGNREGA ) & 31=1iid fehdt amtor fef eaf<h opt
31fehad fehd= & dar ASTIR M ardT & 2
Options:

1) 180 days

180 f&A

2) 120 days

120 f&=

3) 100 days

100 feq

4) 90 days

90 f&=

Correct Answer: 100 days

100 fe=
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Candidate AnsW&t"PotPe &g Www-amaths.in
100 &=

Question 27.Scheduled bank is a bank which is ....

Options:
1) Nationalised

u&ﬁmg’r

2) Not Nationalised

H@W e

3) Based in foreign Country

gER &1 7 Tfuq gl

4) Included in the second schedule of RBI

VR RoTd sfeh ohl ol STl | A gf

Correct Answer: Included in the second schedule of RBI
TR Rerd e i gt St & e g

Candidate Answer: [ NOT ANSWERED |

Question 28.Black soil is also known by which of the
following name ?

hlctt fAS! SR fohg AT @ ST STt 8 2
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Options:
1) Khadar Soil
Qe el
2) Bangar Soil
IR et
3) Alluivial Soil
a@ﬂﬁé’r

4) Regur soil
IR et
Correct Answer: Regur soil

TR e

Candidate Answer: [ NOT ANSWERED |

Question 29.What is the name of the book written by
Panini ?

OOt gRT I=Id Y&deh Sl T ATH § ?
Options:

1) Mahabhashya

HeTHIYY]

2) Mitakshara

fAaTer

3) Madhyamika Karika

HTieAHehT ATkl

4) Ashtadhyayi

ST
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ST

Candidate Answer: Ashtadhyayi
TSIl

Question 30.Which dynasty was started by Khizr Khan ?

&S @ 3 hI9-T TSI T TR fohar a1?

Options:
1) The Sayyids
e prrd

2) The Lodhis
ofrefy

3) The Rajputs

4) The Khiljis

Correct Answer: The Sayyids

g

Candidate Answer: The Sayyids
e prrd

Question 31.The instrument used for measuring air
pressure is called .....

JRIGIE ohl ATIA S A @l ... hed ©.

Visit www.gmaths.in for tons of free study materials and latest exam updates.



Downloaded from www.qmaths.in

Options:
1) Anemometer

AR

2) Barometer

R
3) Hygrometer

4) Thermometer

YATHI

Correct Answer: Barometer

SRR

Candidate Answer: Hygrometer

grsHIeR

Question 32.Gustation refers to the sense of which of the
following ?

Qe d M Aefeifead a g a g ?
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Options:
1) Smell
ged

2) Hearing

3) Tactile
Wi g

4) Taste
g

Correct Answer: Taste
oIq

Candidate Answer: Taste
g

Question 33.Intensity of any wave is proportional to which
of the following?

foRdt T Bl Ueetar Idh, AFfeliRad & 9 fohddh srqurd & gidt
g7
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1) amplitude

STTH

2) Square of amplitude

TITH T I

3) Square root of amplitude
SITATH T A

4) Cube of amplitude
HATYTH <hl Y-

Correct Answer: Square of amplitude
ITTITH Al i

Candidate Answer: amplitude
SATUH

Question 34.In the following list of devices which device
is used in network layer?

gl ol fAmfeilRed aft & 9 Aeddh oior & g olH-91 I Uged
BIdT & ?
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Options:

1) Repeaters
g-RIddeh (RdteR)
2) Router

TIG'('K

Appllcatlon Gateway

UfeeTohe™ Tiea
4) Switch

fea=r

Correct Answer: Router

Candidate Answer: Router

Question 35.NTPC is a Central Public Sector Enterprise in
which sector?

.8 . T F< ites &7 IgH & ot FAfafea 7 & frg
&5 J gf=ag g ?
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Options:
1) Education
fRrem

2) Health
Y

3) Power

T

4) Transport
gRagd

Correct Answer: Power

T

Candidate Answer: Power

ferggd

Question 36.Which State government has launched the
Smart Village Programme, to improve public facilities in
village?

fehe 5T TXAR A UTHI | Hidoii-ich Fiaersti § YR o <k
36T 9 W1 faetst Ui’ o1 [ Tt ?
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Options:
1) Maharashtra
HEIRTS

2) Rajasthan
NSEIE]

3) Odisha
IS

4) Gujarat

Correct Answer: Gujarat

HSNEG)

Candidate Answer: Maharashtra
HEIRIS

Question 37.Rodrigo "Digong” Duterte emerged winner in
2016 presidential elections of which country ?

feher &1 & gt & 2016 o TG | AT 'S gde A sita
g1t <l ?
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Options:
1) Mexico

AfeRent
2) The Philippines
fohferfo=

3) Spain

A

4) Singapore

TR

Correct Answer: The Philippines

fohferfo—g

Candidate Answer: Singapore

R

Question 38.What is commonly known as 'white plague'?

'Ydd T aht THAR R fohg A1 I STET ST 8§ 2
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Options:
1) Typhoid
CIIhISS

(STTSER)
2) Malaria

AT

3) Tuberculosis

&g I
4) Plague

Correct Answer: Tuberculosis

&1 AT
Candidate Answer: [ NOT ANSWERED |

Question 39.What are gilt-edged securities?

'2iss ufdefaai' g ?

Options:

1) Securities issued by the multinational companies.
IEISERT Rl gRT STRT ufdsgfadi

2) Securities issued by the Government

PR gRT SR ufdegfaai

3) Securities issued by the private sector
reft & g oY wfegfai
4) Securities issued by the joint venture companies

Y<h-3eH hHATl gRT SIRY Ufayfaai
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Correct AnsweP°88lgfites 988y BYNE- Bovernment
AR gRI ST Ufayfaai

Candidate Answer: Securities issued by the joint venture
companies

Hh-3eH hH AT gRT SIRI Ufdfadi

Question 40.In whose consultation does the President
convene and prorogue all sessions of Parliament ?

Ieeyfd fohgdh WSl § 99¢ & Tl I sraifaid ofk Wil
hd 8?

Options:

1) The Speaker

ey

2) The Prime Minister
T 7=t

3) The Prime Minister and the leader of the opposition in
Lok Sabha .
AT 3R g | faRted} et & adr

4) The Council of Ministers
= gfRue
Correct Answer: The Prime Minister

T HAl

Candidate Answer: The Speaker
ST &
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Question 41. WRRWWHIMF P RYTonYY RERMETYE associated?

‘haed’ hiF-9 g I gEf-aa g ?
Options:
1) Buddhism

ot

2) Jainism

S

3) Hinduism

gl?v

4) Sikhism

i

Correct Answer: Jainism

it

Candidate Answer: Jainism

SE

Question 42.Bauxite is used as raw material by which
industry

fohg IETT gRT 'dia15S’ thed | oh diX UR SIdHT [hdT SITdT &
?
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1) Aluminium

TAATH

2) Iron

SI

3) Steel
Il (FEUTd)
4) Gold
T

Correct Answer: Aluminium

KR EIREL

Candidate Answer: Aluminium

TAATH

Question 43.The large collection of stars, dust and gas
held together by gravitational attraction between
components is known as

Yechl oh ST TRecThNUT GRT HRI AT H Teh 1Y Yehd g4 dR],
¢[cT 3R 71 bl RIT hgd & ?
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1) Cluster

2) Atmosphere

qRIHUS

3) Galaxy

HeTfch (STTERTRIT)
4) Sun Family

Correct Answer: Galaxy
HerfchA (STTERTRFT)
Candidate Answer: Galaxy

Herfeht (STTeRTRIT)

Question 44.Thermal electricity is generated by using
which of these ?

ffeiRad & 9 fohdrent UaT Shich SSHI faed Uar <l SiTdt 8 2
Options:

1) Coal only

chdel Shigell

2) Coal and Natural Gas only

hIIAT 3R UTepldeh 9

3) Coal, Natural Gas and Petroleum

hITeT, UTeplden 719 3R Ugifelad

4) None of these
34 I IS !
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Correct AnsweP 89PN A{HA'EYS HAd Petroleum
h 1T, UTeplden 119 3R Ucifelad

Candidate Answer: Coal only
chdel hidell

Question 45.When iron rusts, its weight .....

ST dllg | ST T SIdT @ df Skl doi ...
Options:

1) decreases

U< STl g

2) increases

G SITdT 8

3) remains the same

g T e

4) first increases and then decreases

Ugd d&dT g R fhe gedr g

Correct Answer: increases
g6 Sdi &

Candidate Answer: increases
g6 SIdT 8

Question 46.The driest location on Earth is in which
country?

gedfl IR 9o {[5h W - A H 8 ?

Visit www.gmaths.in for tons of free study materials and latest exam updates.



Downloaded from www.qmaths.in

Options:
1) Kenya
cheaT

2) Chile
farett

3) Congo
Gan|

4) Libya
ferfaar

Correct Answer: Chile

ferett

Candidate Answer: Kenya

heT

Question 47.Which leader of British Labour Party was
recently elected the first Muslim Mayor of London?

feifesr iR UTdl & ahl I =dT bt 81T 81 H T+ hl UUH HieH
TR AT 7T ?
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Options:
1) Sadig Khan
gifces @
2) Ataullah Khan
SdTSeell WIq

3) Firdauz Zaidi
fohaty Sid
4) Karim Shaikh
PRIA A

Correct Answer: Sadig Khan

g @M=

Candidate Answer: Sadiq Khan
aifeeh @™

Question 48.Lady Ratan Tata Trophy' is related to which
game?

olel Id- el aith' fohg @eT d Twaifdra g 2
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Options:

1) Basketball
SThedid]

2) Hockey
gichl

3) Kho-Kho
Ql-@t

4) Cricket
fehche

Correct Answer: Hockey

gichl
Candidate Answer: [ NOT ANSWERED |

Question 49.Which instrument is used for measuring
humidity of atmosphere?

AIgHUS H 3Tedl AT o felT TRIeRT Il <hl oRIT Shgd & ?

Options:
1) Barometer

SRR

2) Anemometer

THAMHIR

3) Thermometer

UHTHIER
4) Hygrometer
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Candidate Answer: Barometer

SRR

Question 50.Pankaj Advani is associated with which
sport?

GehsT STTSATUl ohl AITH fohd Wel & TS 8 ?
Options:
1) Billiards
faferadg
2) Boxing
S
3) Cricket
fehehe

4) Badminton
defA=A
Correct Answer: Billiards

EISRES]

Candidate Answer: Billiards

EISRES]
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Question 51.Fif®tRE 1SS REHEr WHIER fhust be
subtracted from 18265 to make it a perfect square

ag gAdH &1 A1 hiITSIY St 18265 & g™ ST WR 3R 39
qui T ¢ |

Options:

1) 30

4) 45
Correct Answer: 40
Candidate Answer: 40

Question 52.A and B together can do a piece of work in 36
days, B and C together can do itin 24 days. Aand C
together can do it in 18 days. The three working together
can finish the work in

A3MRB AR it e 36 R A e Terd €, B 3R C
e g 24 RAi d e gord 21 A IR C At 3@ 18 fea &
R Gohd 8| i1 fAeTeh hd e df I8 fohdA & & g1 opdit 2
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1) 8 days
8 fo

2) 16 days
16 f&=1

3) 30 days
30 f&1

4) 32 days
32 fe

Correct Answer: 16 days

16 fed

Candidate Answer: 16 days
16 f&=

Question 53.Two adjacent sides of a parallelogram are 21
cms and 20 cms. The diagonal joining the end points of
these two sides is 29 cms. The area of the parallelogram
(in sg.cms) is

Uk HIAR IJYST bl ST ST~ HSIT4 21 F.H1. 3R 20 I.HI. i
1 3 &Y ofSTatt o fART ot Site= arert faehof 29 §.4 .81 gHiaR
TJHST BT &Kl fehadT (a7t 9.41.) g ?
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Options:
1) 240

2) 120
3) 210

4) 420
Correct Answer: 420
Candidate Answer: [ NOT ANSWERED |

Question 54.A dealer marks his goods 20% above cost
price. He then allows some discount on it and makes a
profit of 8%. The rate of discount is

Teh faehdT 31U THM IR AN Hed § 20% Hideh HoI Sifchd
AT g1 IH TR g §©0 Qe &l g IR 8% ohl oI1H HHATAT &1 B <hl
RS ?

Options:

1) 4%

2) 6%

3) 10%

4) 12%

Correct Answer: 10%

Candidate Answer: 10%

Visit www.gmaths.in for tons of free study materials and latest exam updates.



Question 55.SUPA'YF G HIPADEIY 8 TRTIE their
difference. Their ratio is

&Y TATS T INT I7ch SHax I faTAT 81 IRt S1uTd R g ?

Options:
1) 1:2

4) 1:3
Correct Answer: 2:1
Candidate Answer: 2:1

Question 56.The average age of 36 students in a group is
14 years. When the teacher's age is included in it, the
average increases by one. The teacher's age in years is

36 BT & Yeh THE hl 3T ARG 14 a9 g1 STe IGH &1 i
Y AR R Sl STl 8 ot S Teh 9 ST 81 fR187ek bt 31y
fehat av g ?
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Options:
1) 31

4) 50
Correct Answer: 51
Candidate Answer: 36

Question 57.A dishonest dealer professes to sell his
goods at cost price but uses a weight of 875 gms for the
kilogram weight. His gain in percentage is

Qeh dISAT fachdT 31U 9T TN Hed UR ST <Al GTdT hdl 8
ifche fohetlu® a1 & a1t # 875 UTH o aoid (dic ) bl
SIIHT el g | IThT AT ufasrd foha-T g ?

Options:

1) 17%

2)

143%
b4

3)

14%%
7

4) 14%

Visit www.gmaths.in for tons of free study materials and latest exam updates.



Correct AnsweP.ownloaded from www.gmaths.in

142%
T

Candidate Answer:

14%%
T

Question 58.A's salary is 50% more than that of B. Then
B's salary is less than that of A by

A T dd- B ch dd- T 50% 31feeh & dt B ahl a1 A & fohd=T &pH
g7

Options:

1) 50%

2)

33}%0
3

1
447%

Correct Answer:

335%c
3

Candidate Answer:

335%::
3
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Question 59.Sp¥Y BRI BERMIBHY B EdRinst the
current are 14 kms/hr and 8 kms/hr respectively. The
speed of the current is

Qeh HiTehT <hl T €RT eh 1Y 3R Ufdcpel f&=mm & shsr: 14 fon. Hi./
gueT 3R 8 foh.Hl./guer &1 ¥R & 71 fohait @ 2

Options:

1) 11 kms/hr

11 foh.HY./gaT

2) 6 kms/hr
6 foh.H1./deT

3) 5.5 kms/hr
5.5 fon.HY./ger

4) 3 kms/hr
3 for. =t /g

Correct Answer: 3 kms/hr

3 foh.Hl./50aT

Candidate Answer: 3 kms/hr

3 foh.Hl./5aT

Question 60.If the simple interest on Rs. 1 for T month is
1 paisa, then the rate percent per annum will be

gfe Rs. 1 UR 1 ATE AT TYRUT 15T 1 997 g, df a1fties a2 ufasrd
fohd=IT 81T 2
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Options:
1) 10%

2) 8%
3) 12%
4) 6%

Correct Answer: 12%
Candidate Answer: 12%

Question 61.If a/b + b/a = 1, then the value of a3 + b3will
be

afe a/b + b/a =1, dt a3 + b3 fora=m gl ?

Options:
1) 1

2) 0
3) -1
4) 2

Correct Answer: 0
Candidate Answer: [ NOT ANSWERED |

Visit www.gmaths.in for tons of free study materials and latest exam updates.



Question 62.If pD°=w55),at en the Valies r;')S([i)'r2+3p+3) will be

gfe p = 99 at p(p2+3p+3) hT HTF AT BT ?
Options:
1) 999999

2) 1000000
3) 10000071

4) 999998
Correct Answer: 999999
Candidate Answer: 999999

Question 63.If a-b=1 and a3-b3 = 61, then the value of ab
will be

gfe a-b=1 3k a3-b3 = 61, at ab 1 a9 T T ?

Options:
1) -20

4) 60
Correct Answer: 20

Visit www.gmaths.in for tons of free study materials and latest exam updates.
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Question 64.

x x a-h .
If i 1= s +m,thenx13 equal to

g = +1="12 FrxFuhaEs?
ath a~b atb

Options:
1) 2a-b

2) at+b
3) a-b

4) 2a+b
Correct Answer: a-b
Candidate Answer: a-b

Question 65.The point where the 3 medians of a triangle
meet is called

34 g, &) 9 e & oI R Ua Fieget & i wife fivera & 2
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Options:
1) centroid
hach

2) Incentre
3icch s

3) Circumcentre

URchwg

4) orthocentre

dAdchg

Correct Answer: centroid

hsch

Candidate Answer: centroid

hah

Question 66.A ABC a right angled triangle has 2B = 90°
and AC is hypotenuse. D is its circumcentre and AB = 3
cms, BC =4 cms. The value of BD is

A ABC Ueh §HehI0ig B34S 8, 394 2B =90° 3R AC shuf g1 D
It Ufthe & 3R AB = 39.#, BC =4 4. #. g at BD 1 A
HaTe ?
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Options:
1) 3cms

3 9.Hl.

2) 4 cms
49 H.

3)2.5cms
2.5 .HI.

4) 5.5 cms
5.5 3.1

Correct Answer: 2.5 cms

2.5,

Candidate Answer: 3cms

3 9.H.

Question 67.A ABC is an equilateral triangle and D, E are
midpoints of AB and BC respectively. Then the area of A
ABC : the area of the trapezium ADEC is

A ABC Uch HHITg f33ST ¢ 3R D,E shHAST: AB 3R BC @ A¢H fag
g1 dl A ABC & &Fthel g 9Herr ADEC oh &5thel Rl 31UTd
fehaT g 2
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Options:
1) 5:3

4) 4:3
Correct Answer: 4.3
Candidate Answer: 4:1

Question 68.

In an isosceles triangle ABC,AB = AC, XY ||BC.If £A = 30° then £BXY =

Ueh HHG (e 48 ABCH, AB = AC,XY||BC UG £A = 30°, A1 £BXY TohaaAIgIAN ?
Options:

1) 75°

2) 30°

3) 150°

4) 105°

Correct Answer: 105°
Candidate Answer: 105°

Visit www.gmaths.in for tons of free study materials and latest exam updates.
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The value of sec®*17° —

—— —5inl17%sec73°is
tan? 73

S — sin7°secT 3°F A AT E?

Opt_i:ﬁs:
1) 1
2)0
3) -1
4)2

Correct Answer: 0
Candidate Answer: 0

Question 70.If x=aCosBCos®, y = aCosBSin®d and z=
aSin®d, then the value of x%+ y2 + z% is

gfe x=aCosOCosd, y = aCosOSin®d 3R z= aSind & at x2 +
Y2+ Z2 I AF R 8 ?
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1) 2a2

2) 4a?
3) 9a2

4) a*
Correct Answer: a2
Candidate Answer: a2

Question 71.A 1.6 m tall observer is 45 meters away from
a tower. The angle of elevation from his eye to the top of
the tower is 30°, then the height of the tower in meters is

(Take v3 = 1.732)

1.6 Hi. %1 Yok Ueieh fopdlt Sler & 45 #t. X g1 I<h! i@ ¥
claR ch MY dep I T 30° g1 SlaR <hl HaTs fchd+ Hi. gft

(AT V3 =1.732)
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Options:
1) 25.98

2) 26.58
3) 27.58

4) 27.98
Correct Answer: 27/.58
Candidate Answer: 27.58

Visit www.gmaths.in for tons of free study materials and latest exam updates.



Question 72. THEPSIIRRRTJ B ‘CHA1BASWS proportion of
population of seven villages in 2009. Study the pie chart
and answer the questions that follows :

fmferfaa urs-=mé # 2009 # 91q Tidl hl 1T T SUTd
GRITAT 7T 8| UTS-91¢ ahl 31y hifoiq 3R fA=fefad gt an

- '-.- = o e
s | .,
~ \ ~

\ z A,
/'j‘\ e | 1% R, [Village  |% of population

/ e P L% Below Povertyline

! ", ; -~ \ 38

f 5 . \

52
42
51
49
46
58

-
..
= | v = [Nl =< I

If the below poverty line population of the village X' is
12160, then the population of village 'S’ is

gfe Titg 'X' hl TR J@m @ F= HY et 12160 & at g 'S’ <k
a7 fohaT ghft 2

Options:

1) 18500

2) 20500
3) 22000

4) 20000
Correct Answer: 22000
Candidate Answer: 22000
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Question 73.The following pie chart shows proportion of
population of seven villages in 2009. Study the pie chart
and answer the questions that follows :

Fferfaa urs-amé # 2009  9rq widl &t ST T SUTd
GRITAT 7T 8| UTS-91¢ ahl 31y chifoiq 3R fAmferfaa gt an

et '-.- a5 e '-""*-u._
it \ ™~
-~ I ™

\ z
/"f‘\ e | 1% Village |% of population

/ . P AN Below Povertyline
' R Y g X X 38

52
42
51
49
46
S8

.
= | v = |~ =<

The ratio of the below poverty line population of village 'T
to that of the below poverty line population of village 'Z' is

g 'T' Y TR @1 O A1 ht AT qAT Wia'Z' <hl TRsT 3@r &
13 <t SrTaTl 1 S1uTd fohdmT 8 2

Options:

1) 11:23

2) 13:11
3) 23:11
4)11:13

Correct Answer: 23:11
Visit www.gmaths.in for tons of free study materials and latest exam updates.
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Question 74.The following pie chart shows proportion of
population of seven villages in 2009. Study the pie chart
and answer the questions that follows :

Fferfaa us-amé # 2009 & T1q Tial dht SMETCT T UTd
2T AT 8| UTS-I1E ahl I1e8y- hifoiu 3k fAmfaifad usHt &

3ok ifS J|
: - '..\I '-'“"H-\_,\
- 4 S,
g\ z - "
o ame Y M Village |% of population
7 \ \ P \ Below Povertyline
b A Se ) 8 a2 - ~
| 11% SN A hi 52
. = | Fd 42
——— | s X /
\_.‘ T 3 N / 5 49
K 21% i !
\ 10% e T 46
e \ 58

If the population of the village 'R"is 32000, then the below
poverty line population of village 'Y' is

gfe 7ig 'R’ Y Srmarét 32000 g, at vite 'Y’ hY e 3@ I i H
ATt fohat g 2
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Options:
1) 14100

2) 15600
3) 16500

4) 17000
Correct Answer: 15600
Candidate Answer: 15600
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Question 75. THEPSIIRRRTJ B ‘CHA1BASWS proportion of
population of seven villages in 2009. Study the pie chart
and answer the questions that follows :

fmferfaa urs-amé # 2009 # 9rq widl hl ST T SUTd
GRITAT 7T 8| UTS-91¢ ahl 31y hifoig 3R fAm=fefad gt an

Jcd¥ é IS U|
i ."\,. - --\x"\
\ a
i Z

\ bl
Hp  qme k1M R, illage  |% of population

;,f' \ /, : S Below Pove gline

f 5 a5 / \ 33

52
42
51
49
46
58

E4
= | v = [Nl =< I

In 2010, the population of 'Y' and 'V' increases by 10%
each and the percentage of population below poverty line
remains unchanged for all the villages. If in 2009, the
population of village Y was 30,000, then the below poverty
line population of village 'V'in 2010 is

2010 #'Y' 3R V' Tiial i IETET 10% a6 STdt g 3R geft wiia
Y TRl @1 @ i <k S1ETeY vt ufasra srufkafdad |ar g afe
2009 # 7iq 'Y' kY 3raTEt 30000 Y, aF 2010 & 7itg V' kY TR
@1 g Fr &y erard) fohat 82
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Options:
1) 11250

2) 12760
3) 13140

4) 13780
Correct Answer: 12760
Candidate Answer: 12760

Question 76.In the following question, out of the four
alternatives, choose the word which best expresses the
meaning of the given word and click the button
corresponding to it.

PALLID

Options:

1) FRIENDLY

2) PALE

3) WORTHLESS

4) COMFORTING
Correct Answer: PALE

Candidate Answer: [ NOT ANSWERED |

Visit www.gmaths.in for tons of free study materials and latest exam updates.



Question 77.In tRYTERBHHHGYUELHABEL DS the four
alternatives, choose the word which is opposite in
meaning to the given word and click the button
corresponding to it.

INTANGIBLE
Options:

1) ETHEREAL

2) CONCRETE

3) INSUBSTANTIAL
4) ABSTRACT

Correct Answer: CONCRETE
Candidate Answer: [ NOT ANSWERED |

Question 78.Four words are given, out of which only one
word is spelt correctly. Choose the correctly spelt word
and click the button corresponding to it.

Options:

1) Pontifical

2) Pontiffical

3) Pontifecal

4) Pontificol

Correct Answer: Pontifical
Candidate Answer: [ NOT ANSWERED |

Visit www.gmaths.in for tons of free study materials and latest exam updates.



Question 79.In tRYTERBHHHGYUELHAZSAR part of the
sentence may have an error. Find out which part of the
sentence has an error and click the button corresponding
to it. If the sentence is free from error, click the "No error”
option.

| always enjoy (A)/ to read (B)/ books (C)/ No Error (D)
Options:

1) A

2)B

3)C

4)D

Correct Answer: B

Candidate Answer: B

Question 80.In the following questions, one part of the
sentence may have an error. Find out which part of the
sentence has an error and click the button corresponding
to it. If the sentence is free from error, click the "No error”
option.

Variety (A)/ is (B)/ spice of life (C)/ No Error (D)
Options:

1) A

2) B

3)C

4)D

Correct Answer: C

V|S|gﬁ”\q|&'rﬁ£ﬁ1€‘m§qunL WEMWE&E%L and latest exam updates.
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Question 81.In the following questions, one part of the
sentence may have an error. Find out which part of the
sentence has an error and click the button corresponding
to it. If the sentence is free from error, click the "No error”
option.

Neither of the scout leaders know (A)/ how to trap wild
animals (B)/ or how to prepare them for mounting (C)/ No
Error (D)

Options:

1) A

2) B

3)C

4)D

Correct Answer: A

Candidate Answer: B

Question 82.The sentences given with blanks are to be
filled with an appropriate word(s). Four alternatives are
suggested for each question. For each question, choose
the correct alternative and click the button corresponding
to it.

We can see anything in the dim light.
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Options:

1) badly

2) scarcely
3) fairly

4) rather
Correct Answer: scarcely

Candidate Answer: scarcely

Question 83.The sentences given with blanks are to be
filled with an appropriate word(s). Four alternatives are
suggested for each question. For each question, choose
the correct alternative and click the button corresponding
to it.

Few countries can India in variety, colour and
the richness of dance forms.

Options:

1) compare

2) rival

3) perform

4) prevail

Correct Answer: rival

Candidate Answer: rival

Visit www.gmaths.in for tons of free study materials and latest exam updates.



Question 84. THEYEIRATELC Ve Wit BidAks are to be
filled with an appropriate word(s). Four alternatives are
suggested for each question. For each question, choose
the correct alternative and click the button corresponding
to it.

The scheme allows students from different countries to
communicate
Options:

1) each other
2) with each others

3) themselves

4) with one another

Correct Answer: with one another

Candidate Answer: each other

Question 85.In each of the questions, four alternatives are
given for the Idiom/Phrase. Choose the alternative which
best expresses the meaning of the Idiom/Phrase and
click the button corresponding to it.

Straw in the wind

Options:

1) A light-weight object

2) A lucky charm

3) A game that kids play

4) An indication of what might happen

Correct Answer: An indication of what might happen

V|S|gﬁ”\q|&'rﬂ£ﬁ1€‘ﬂ§qunL NQEMWEERE%L and latest exam updates.
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Question 86.In each of the questions, four alternatives are
given for the Idiom/Phrase. Choose the alternative which
best expresses the meaning of the Idiom/Phrase and
click the button corresponding to it.

Face the music

Options:

1) Be applauded

2) Be ridiculed

3) Be punished

4) Be dismissed

Correct Answer: Be punished
Candidate Answer: Be punished

Question 87.In each of the questions, four alternatives are
given for the Idiom/Phrase. Choose the alternative which
best expresses the meaning of the Idiom/Phrase and
click the button corresponding to it.

Curry favour

Options:

1) Seek impartial judgement
2) Seek favourable attention
3) Prepare a dish

4) Attract attention

Correct Answer: Seek favourable attention
Candidate Answer: Seek impartial judgement
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Question 88.0ut of the four alternatives, choose the one
which can be substituted for the given words/sentences
and click the button corresponding to it.

A brief or short stay at a place
Options:

1) Solitude

2) Soiree

3) Sojourn

4) Solistice

Correct Answer: Sojourn
Candidate Answer: Solitude

Question 89.0ut of the four alternatives, choose the one
which can be substituted for the given words/sentences
and click the button corresponding to it.

That which can be believed
Options:

1) Miraculous

2) Creditable

3) Credible

4) Gullible

Correct Answer: Credible
Candidate Answer: Credible

Visit www.gmaths.in for tons of free study materials and latest exam updates.



Question 90.OHBMARFFI(PAItE AtV SCAoose the one
which can be substituted for the given words/sentences
and click the button corresponding to it.

One who is indifferent to pain or pleasure
Options:

1) Eccentric

2) Philosopher

3) Fatalist

4) Stoic

Correct Answer: Stoic

Candidate Answer: Fatalist

Question 91.A sentence/a part of the sentence is
underlined. Four alternatives are given to the underlined
part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In
case no improvement is needed, click the button
corresponding to "No improvement”.

Knowing that the area was prone to earthquakes, all the
buildings were reinforced with additional concrete.
Options:

1) On being prone to earthquakes,

2) Having been knowing that the area was prone to
earthquakes,

3) Since the area was known to be prone to earthquakes,
4) No improvement

Visit www.gmaths.in for tons of free study materials and latest exam updates.



Correct AnswelP°SiHea i arey Was¥3BWh to be prone to
earthquakes,

Candidate Answer: [ NOT ANSWERED ]

Question 92.A sentence/a part of the sentence is
underlined. Four alternatives are given to the underlined
part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In
case no improvement is needed, click the button
corresponding to "No improvement”.

| will not buy some mangoes.
Options:

1) a little

2) much

3) any

4) No improvement

Correct Answer: any
Candidate Answer: a little

Question 93.A sentence/a part of the sentence is
underlined. Four alternatives are given to the underlined
part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In
case no improvement is needed, click the button
corresponding to "No improvement”.

He would surely assist me if | had requested him to do so.
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Options:
1) would surely assisted me

2) would have surely assisted me
3) will have surely assisted me

4) No improvement

Correct Answer: would have surely assisted me
Candidate Answer: will have surely assisted me

Question 94.A sentence/a part of the sentence is
underlined. Four alternatives are given to the underlined
part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In
case no improvement is needed, click the button
corresponding to "No improvement”.

The alarming report of the plane crash left everyone in a
state of shock.

Options:

1) alarmed report

2) alarmed reporting

3) reported alarm

4) No improvement

Correct Answer: No improvement
Candidate Answer: reported alarm

Visit www.gmaths.in for tons of free study materials and latest exam updates.



Question 95.A SaiEtRE S BA Ot AR YERHt_NCe is
underlined. Four alternatives are given to the underlined
part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In
case no improvement is needed, click the button
corresponding to "No improvement”.

We were not the wiser after hearing the explanation
Options:

1) none

2) neither

3) nevertheless

4) No improvement

Correct Answer: none

Candidate Answer: [ NOT ANSWERED |

Question 96.A passage is given with 5 questions
following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives
and click the button corresponding to it.

Another marvel on the far side of the lake was a little farm
that felt like a secret in the city. Some of the gaunt
Karnataka labourers even looked away when children
came to dig and eat. But the greatest pleasure, this side
of the lake, was the jamun tree. A few months back, Kalu
and Sunil had a feast in the branches, shaking down a few
berries for Mirchi.
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That's when th& ¢aR7E 0 KB W HE'8EERY-coolest thing
about the jamun tree : There were parrots nesting in it.
Since then, some other road boys had been capturing the
parrots one by one to sell at the Marol Market, but Sunil
had brought Kalu around to the belief that the birds
should be left as they were. Sunil listened for their
squawks each morning, to make sure they hadn't been
abducted in the night.

Kalu's expertise was in the recycling bins inside airline
catering compounds. Private waste collectors emptied
these dumpsters on a regular basis, but Kalu had
mastered the trash truck's schedules. The night before
pickup, Kalu would climb over the barbed-wire fences and
raid the overflowing bins.

Kalu's routine had become known by the local police,
however. He kept getting caught, until some constables
proposed a different arrangement. Kalu could keep his
metal scrap if he'd pass on information he picked up on
the road about local drug dealers.

What was the greatest pleasure this side of the lake?
Options:

1) A secret farm

2) The Jamun tree

3) Feasting on the branches of the Jamun tree

4) Labourers looking away when the children came to dig

and eat
Visit www.gmaths.in for tons of free study materials and latest exam updates.



Correct AnsweP°TREAGFhUAregw-amaths.in
Candidate Answer: A secret farm

Question 97.A passage is given with 5 questions
following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives
and click the button corresponding to it.

Another marvel on the far side of the lake was a little farm
that felt like a secret in the city. Some of the gaunt
Karnataka labourers even looked away when children
came to dig and eat. But the greatest pleasure, this side
of the lake, was the jamun tree. A few months back, Kalu
and Sunil had a feast in the branches, shaking down a few
berries for Mirchi.

That's when they came to know the second-coolest thing
about the jamun tree : There were parrots nesting in it.
Since then, some other road boys had been capturing the
parrots one by one to sell at the Marol Market, but Sunil
had brought Kalu around to the belief that the birds
should be left as they were. Sunil listened for their
squawks each morning, to make sure they hadn't been
abducted in the night.

Kalu's expertise was in the recycling bins inside airline
catering compounds. Private waste collectors emptied
these dumpsters on a regular basis, but Kalu had

mastered the trash truck's schedules. The night before
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pickup, Kalu wolRd"&qais §ver thesirp@d-ire fences and
raid the overflowing bins.

Kalu's routine had become known by the local police,
however. He kept getting caught, until some constables
proposed a different arrangement. Kalu could keep his
metal scrap if he'd pass on information he picked up on
the road about local drug dealers.

What was the second coolest thing about the Jamun
tree?

Options:

1) Shaking down the berries for Mirchi

2) There were parrots nesting in the tree

3) Selling parrots in the Marol Market

4) Capturing parrots in the tree

Correct Answer: There were parrots nesting in the tree

Candidate Answer: There were parrots nesting in the tree

Question 98.A passage is given with 5 questions
following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives
and click the button corresponding to it.

Another marvel on the far side of the lake was a little farm
that felt like a secret in the city. Some of the gaunt
Karnataka labourers even looked away when children
came to dig and eat. But the greatest pleasure, this side

of the lake, was the jamun tree. A few months back, Kalu
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and Sunil had Pre4EtaRcthieBraMeHesa8aRing down a few
berries for Mirchi.

That's when they came to know the second-coolest thing
about the jamun tree : There were parrots nesting in it.
Since then, some other road boys had been capturing the
parrots one by one to sell at the Marol Market, but Sunil
had brought Kalu around to the belief that the birds
should be left as they were. Sunil listened for their
squawks each morning, to make sure they hadn't been
abducted in the night.

Kalu's expertise was in the recycling bins inside airline
catering compounds. Private waste collectors emptied
these dumpsters on a regular basis, but Kalu had
mastered the trash truck's schedules. The night before
pickup, Kalu would climb over the barbed-wire fences and
raid the overflowing bins.

Kalu's routine had become known by the local police,
however. He kept getting caught, until some constables
proposed a different arrangement. Kalu could keep his
metal scrap if he'd pass on information he picked up on
the road about local drug dealers.

What did Sunil think of parrots?
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Options: Downloaded from www.qmaths.in

1) That they should be captured and sold.

2) That they had been abducted in the night.
3) That they should not be captured and sold.
4) That they squawked every morning.

Correct Answer: That they should not be captured and
sold.

Candidate Answer: That they should be captured and
sold.

Question 99.A passage is given with 5 questions
following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives
and click the button corresponding to it.

Another marvel on the far side of the lake was a little farm
that felt like a secret in the city. Some of the gaunt
Karnataka labourers even looked away when children
came to dig and eat. But the greatest pleasure, this side
of the lake, was the jamun tree. A few months back, Kalu
and Sunil had a feast in the branches, shaking down a few
berries for Mirchi.

That's when they came to know the second-coolest thing
about the jamun tree : There were parrots nesting in it.
Since then, some other road boys had been capturing the
parrots one by one to sell at the Marol Market, but Sunil
had brought Kalu around to the belief that the birds

should be left as they were. Sunil listened for their
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squawks each RISIHATGC IO ATARY ¥ iBXR&Y hadn't been
abducted in the night.

Kalu's expertise was in the recycling bins inside airline
catering compounds. Private waste collectors emptied
these dumpsters on a regular basis, but Kalu had
mastered the trash truck's schedules. The night before
pickup, Kalu would climb over the barbed-wire fences and
raid the overflowing bins.

Kalu's routine had become known by the local police,
however. He kept getting caught, until some constables
proposed a different arrangement. Kalu could keep his
metal scrap if he'd pass on information he picked up on
the road about local drug dealers.

How did Kalu manage to raid the airline recycling bins
before they were emptied?

Options:

1) He was an expert

2) He jumped over the barbed wire fences.

3) He had mastered the trash trucks schedules.

4) He worked at night

Correct Answer: He had mastered the trash trucks
schedules.

Candidate Answer: He had mastered the trash trucks
schedules.

- Question 100.A passage is given with 5 questions
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